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MAT 162 Gurganus

Directions: Show all work for partial credit purposes. You may use a graphing
calculator and notes recorded on one side of a single 8.5 by 11 inch paper. Otherwise the

test is closed book. When you turn in your test, staple your notes to this sheet. 0,
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7. Tell why the following converge or diverge:

4
Koo, bhi, T Corpo®
. x*+1 g LWl b x* +1
L (P +24) o (x+24) a2
2 (e N D S ¢ - X H

= SVt |
| SR NE Gty ’\._5' M%f );\;WW"
_&fx'»ﬁ‘"f) “ Sq(u“(%




3 , — (X2 4 9&(
8.Calculatej ¥rS e mg}_(_f_}_,— —g/

O x> +4x+8 é{—l\l“'}m Q(‘tl\ 12
|
k)J: Xﬂ*7~ ;_1i) 5$k_ _l___, 5{2{
el Ko &) 4@2
‘@‘ | +EL U

e

(=
duzdy gD e R 2
=2

| L
1 D (Rrtes) s (BT +C

9. Write the form of the partial fraction decomposition that you would use to calculate
t the following integral (you do not have to solve for the constants nor evaluate the
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